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gooo

000000 (245 000 yew<yd (2 +2") =G({y,2+2"})0000000000000000 {a,b} €
mover({y,z+2"}) , G{a,b}) =yewOO0 a,be Z>, 00000000
movey 10000000000 (246) 00000 (247) 00000000000

G({min(y, f(w')),w'}) =y & w. (2.46)
0000w € Z500 w <242"0000

Y& (+2") =Gy, 2 +2"}) =y S w. (2.47)

0000y € Z»00 ¢y <yOD000
00 (247) 000 (245) 000000000000 (246)000000000000

w >z (2.48)
0000000 fw)> f(z) >y OO
G({min(y, f(w')),w'}) = G({y, w'}) =y & v’ (2.49)

00 (246), 00 (2.49)00
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yow=ydw (2.50)
0000w <wO0O0O (250) J00000000000O0O0O0O (248)000000000w' <2000000 O
0 (246)000 {ydw: w < 2z} C {G({min(y, f(w)),w}) :w <2} 000000{yew:w<z 000000
{G({min(y, f(w)),w}) :w < 2z} 00000000000 {G({min(y, f(w)),w}) :w <z} ={ydw:w< 2z 00
oo O
00 2.11. dye,i € Zso, di € {0,1}, e<2 00 0<d;2i+e00000
a=dx2 44,20 +e—1
goodd

00 c€Z-0000 ex2F < fla)<ex2f1 4200000
fla+1) <ex21 4200000

00.0<t<2'0000

fla)=cx 2t 4t (2.51)
oooo

fla+1)>cx 2 42 (2.52)

0000000000000 0o00oooU0o0oo(@uUoooooon)
Case (1) 00 d;,=1000

G{ex 2 420 a+ 1))
= (ex 2 120 @ (d x 27! 4+ d;2° + ¢)
=(c®d)2™™ +e<(cwd2™ +d2' + (t®e)
=G({cx 2 +ta+1}). (2.53)
000000 (251),000 (252) 00 00 29000 G({ex2Ht +t,a+1}) < G{ex 2t +21 a+1}) 000
0000000 (253) 000000
Case (ii) 00 d; =0000 G({e x 2Tt + 28 a+1}) = (¢ x 21T +29) @ (d x 207! +e)
=(c®d)2" + 2 + e > (c® d)2"! + 20,
0000di2°4+e>0,d;=0000e>000000000000000000000
(c®d)2™ +2" e {G({p,q}) : {p,a}
€ move({c x 2" + 2 a+1})}. (2.54)
{G({p.a}) : {p, a} € movey({c x 2" +2°,a +1})}
={G({v,d x 2" +e}):v=0,1,2,....,c x 2T 420 — 1}
U{G({min(c x 27 4 2% f(w)),w}) :
w=0,1,2,....d x 277 + ¢ —1}. (2.55)
O00a=dx2"' +e—-1000000000
w<aOOO00O, f(w) < fla)=cx 2t +t000000
(2.55) =
{G({v,d x 271 +¢}) :
v=0,1,2,...,cx 2t 20 _1}
U{G({min(c x 2" +¢, f(w)),w}) :
w=0,1,2,....,d x 2" 4 ¢ — 1}. (2.56)
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ex 2 4t =fa) < fla+1)=f(dx2F +e) 000000 210000 {G({min(c x 27 + ¢, f(w)),w}) : w =
0,1,2,..,dx 2 e -1} ={(cx 2T +HHOw:w=0,1,2,..,d x 2" +e-1} 000000000 24000
(2.56) =
fv@(dx2" +e):v=0,1,2,...,cx 2"t 2" — 1}
UW(ex 2 1ty ow:
w=0,1,2,...,d x 27" 4 ¢ — 1}

={(cx 2 + k)@ (dx 2T 4 ¢):

k=0,1,2,..,2" -1} (2.57)
U{k® (dx 2 +e):

k=0,1,2,...,cx 2 — 1} (2.58)
U{(ex 2T 1) @ (d x 2T 4+ k) -

k=0,1,2,..,e — 1} (2.59)
UWex 2 ok :

k=0,1,2,...,dx 2" — 1}, (2.60)

0oooooag (i), (@), (i), (v 000000

(()) 00 (257) 0000000000 (c®d2 +(k®e) 00000000 (cw a2t +2°0000000000
k,e<2'00000000

(44) 00 (2.58) 000 2710000 ¢cpd00D000O00000ODO (e®d)2t +20000000

(749) 00 (259) 00000000000 (cdd)2M +(t@k)000000000000000000 (c®d)2itt+2¢
0000Doooo

k<e—1<2'0t<2'000000

(iv) 0O (2.60)0 27! 0000 cpdO0D0D000000D0D000 (e@d)2'+2000000000

(4), (ii), (id) , (lv) OODO (254)00000000000000 (252) 000000000000O0O0O0O0ODODOO
ooooooooo O

00 23 f000 240000000000000000 fO000 2700000000

0O0.000000000f000 2100000000000000000000 2<20000 2,2 € Z50
oboys0000000

!/

l55) = 155 (2.61)
oo ,
19y <1 12, (2.62)

n n Jj—1

00 (261)000k=0,1,2,..,n0000 24,2, € Z500000002= 3 %280 2/ =Y 228+ Y 22800
k=0 k=j k=0

0000000 (262) 0000000 4> -10%k=0,1,2,..,n0000 yg,y, € Z5o 000000y, =0< 1=y,

n n i—1
a2y = 3 w2 rux 2+ 3wt 263)
k=0 k=i+1 =0
oo
- i1 n i1
FQ_a2t+ Y 25 = ) w2ty x 24 )yt (2.64)
k=j k=0 k=i+1 k=0
gooooo
c= ) yk2k7(i+1)DDD. 0000 ex 2t = » kakDDDD
k=it1 W
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00 (2.63) 000 (2.64) 00

n i—1
FO a2 =ex 2 4 0x2 4> 2" (2.65)
k=0 k=0
0
n 7j—1 i—1
FO w2k +) 425 =ex 2t 204 g0k (2.66)
k=j k=0 k=0
oooo
a=max({z: f(z) < cx 2Tt 4 2}) (2.67)
0
b=min({z: f(z) > cx 2Tt + 2} (2.68)

0000000002670 (268) 0000 b=a+10000

d= Y z2-0H000. 0000,dx2% = Y £2°000000 (2.65) 0000 f(dx27) < £ 2.2%)
k=i+1 k=i+1 k=0
<ex 21420000000 (267)0000

a>> 52k >dx 2t (2.69)
k=0

0000i+1>;00,(d+1)x2F = 3 2,2k 42141

k=i+1
n J—1
> a2b+ ) g2k (2.70)
k=j k=0
O00.00 (266)000 (2.68) 00
n j—1
Do a2 +> 42k >, (2.71)
k=j k=0
000 (270) 0000 (2.71) 00
(d+1)x 2 >b=a+1 (2.72)

00o00oooO (2.69)00
a+1>dx2"! (2.73)

0000000 (272)0000 (273)0000(d+1) x 24 >b=a+1>dx 2T 0000e<200<d;2 +e
0000d; 0 e00000

a+1=dx2" 4+ d;2" +e0 (2.74)
000000 (2650000 (269000,
n .
fla) = FO " zr2k) = e x 21 (2.75)
k=0
0o0oooo (267)00
fla) < cx 2t 42 (2.76)
O
fla+1)>ex 2t 420 (2.77)
oooooo
00 (2740000 (2.75), 000 (2.76) 0000 (277)000 21100000000 000 f000 2100
oooooo O

0023000000210000000 G{y,2})=y®-000 CB(f,y,2) 000000000
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